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10.

11.

Instructions to Candidates

Do not write your name or put any other mark of identification anywhere in the OMR Response Sheet. If
ANY MARK OF IDENTIFICATION IS DISCOVERED ANYWHERE IN OMR RESPONSE SHEET, the
OMR sheet will be cancelled and will not be evaluated.
This Question Booklet contains the cover page and a total of 179 Multiple Choice Questions of 1mark
each.
In case of any discrepancy is found in translation into Hindi or Urdu, English version will be treated as
fina.
Space for rough work has been provided at the beginning and end. Available space on each page may also be
used for rough work. )
There is negative marking in Multiple Choice Questions. For each wrong answer, 0.25 marks will be
deducted.
USE/POSSESSION OF ELECTRONIC GADGETS LIKE MOBILE PHONE, iPhone, iPad, page ETC. is
strictly PROHIBITED. ‘ ;
Candidate should check the serial order of questions at the beginning of the test. If any question is found
missing in the serial order, it should be immediately brought to the notice of the invigilator. No pages
should be torn out from this question booklet.
Answers must be marked in the OMR response sheet which is provided separately. OMR Response sheet
must be handed over to the invigilator before you leave the seat.
The OMR response sheet should not be folded or wrinkled. The folded or wrinkled OMR/Response Sheet
will not be evaluated.
Write your Roll Number in the appropriate space (above) and on the OMR Response Sheet. Any other
details, if asked for, should be written only in the space provided.
There are four options to each question marked A, B, C and D. Select one of the most appropriate option and
fill up the corresponding oval/circle in the OMR Response Sheet provided to you. The correct procedure for
filling up the OMR Response Sheet is mentioned below.
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WRONG METHOD
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Directions (1-7): In each of the following questions find the odd word/letters/number

from the given alternatives,
frer (1-7) Frafafes @ 19 3 BT U Rewt § § R g=yonr e s SR |
SIS, ;,w,,gfc,uid:?é’:e:uﬁvgﬁc.u:wa,s,?w {(7-LAJ) e g

1. (@) Room
(¢) Veranda
(a) ®w
(c) wuw
A (a) Mouth Organ

- (¢) Keyboard

(a) wETRAT
(c) =
3 @ A
(¢ D
4. {9 RNMP
(o) RPOQ
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(b) Chamber

(d) Cabin
(b) ¥
(d) *f
s (0) S (2)
UFK (d) bz (c)
(b) Electric Guitar
(d) Sonata
(b) fogga fer
(d) €T
AYEO) SA (@
ety (d) s (©
(b) 1
(d E
©) JFEH
(d) HDCE
3)

RIO.




5. ( AbcdE ' &"J:\T L, (b) IfghO q/'\a
N\ . J\,\
(c) ApqgrL ,4 & Ul% (d) UlmnE N /f\ \‘\1%
ol Sﬂ\ Y
6. (2 6@3 “h (b) 2643 \2 L %o
( 8463 @78“ (d) 4867 ’% iy
\
" &S,
7. (a) 49-33 !¢ (b) 62 — 46 \ "y
(c) 83-67 o (9, 70— 55

8. From amongst the given alternatives, select the one in which the set of numbers is
most like the set of numbers given below:

«/’* (6, 14, 30)

@ 416,28 (®) 7,12,22
\"C
" © 612,22 d 5,12,20
0 H8 Ry T fwwdt ¥ @, 9 W, mmaﬁwwﬁqwmaﬁ%wﬁ
< A
" (6,14, 30) >
5 £ A
Al @ 41628 \w4 o 20 Y \
e ¥ .d
) 612,22 [ (d)51220(>‘4,
-LC)’&/&u:/ZG)L//Ku:/u"fJ/J:{JUJC_u"uﬂ)lﬂéa)z_.
(6, 14, 30)
7,12,22 (b) 4,16,28 (a)
Pdesel Ad) 6,12,22  (c)
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9.  Which one of the given responses would be a meaningful order of the following

words ?
A.  Family B. Community C/./ Member
D. Locality E. Country
6 C,A,D,B,E &) C,A, B,D,E
(© C,A,B,E,D d C,AD,EB
4 ¢ wiofrarst § 4 @ w F=filen o= &1 s awefe w9 e
A.  UREr B. 9™ C. =
D. s D. ‘/
(@ C,AD,B,E (b) C,A, B,D,E
() C,A,B,E,D (d C,A,D,E,B
[’ 2 5 u;(a.u.’fc;l,lﬁd’. 36})!{£WIZQJ§
4 c & B £ A
£ _E §5J D
C,A, B,D,E (b) C,A,D,B,E (a)
C,A,D,E,B (d C,AB,E,D (¢
10.  Arrange the following words according to the dictionary and select the correct
alternative:
A. TQﬂT{)ISE B. TORQ{NTO C. TOBI{ED D. TQR_I?S E. TQR_,S%L
(@ B,E,CA,D (b) B,E,C,D, A
ey” B,C,E,A,D @ B,C,E,D,A Vs a
TEHY D AR Friiaa et B waRed F R T8 Reer B T =
A.  TORTOISE B.TORONTO C.TORPED D. TORUS E. TORSEL
(@ B,E,C,A,D (b) B,E,C,D, A
(¢ B,C,E,A,D (d B,CE,DA P.T.O.
B-22 (SET-A) (5)

5




S st e BOIL s O L 2

TORSEL _E TORUS _D

E,C,A,D
B,E,C,D,A (b) B, (@)

B,C,E,D,A (d) B,C,E,A,D (¢

Directions (Q. No. 11 to 12):
Find and fill the blank space with number/ word which establishes the same

relationship as shown in the previous pairs of numbers/word.

Hem /9= 3@ iR e @m # W A few denas 3 e § REw mwoammr
| T T B |

T AL lee t/F62Gany /ﬁﬂ;w//iz.;i_:’:cd(a (1211 A i)y
= -c'_,l«-’/t Ju"é—Jf

11. 7%3,3 :64: 7

\@/ 686 (b) 686

1 (d 2
12.  Iron:anaemia::Sleep  ?
(a) Somnambulism (b) Dreams
(¢) Insomnia : (d) Nightmare
(@) e g (b) &a=
Aoy (d) g
B-22 (SET-A) (6)
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e

¢ PR RNV LW
~1# (b) ehdZ Ui (D)
ps ()

._.,I:’.Cfbf (d)

Directions (13-14) :

3.

Choose the odd numeral pair/group in each of the following questions:
RS (13-14) : Pr=fafed 99 § & yds & Rew den at gH/aE S 9T
LI EE s IS8 St E S h 5T (13-10) = Lly

o
(@ 1836 .7 (b) 1525 =5 35 27
: - }2:;
(©~ 25-54 -7 @ 2781 g 1E
14 A "‘/S;“j’
(a  Evil: Good (b) Lie: Truth z‘//
(c) Abstract : Concrete (d) Sound: Light 13 a
e
5
(@ 30 : s (b) I: &
(c) omd:3™ () eaf+ : et
&: e (b) s (a)
L}%J : T (d) e &E’ (c)
15. If OUGHT is coded as ABCDE in a certain language. How can TOUGH be coded
in the same language?
(a) ABCDE (b) BCDEA
gda/EABCD o
(c) CDEAB \)((‘ﬂ \ BTG
Q 8 P&
B-22 (SET-A) (7) 2 C/D
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afe
TOUGHa?rwrwﬁ%aaﬁf@ammm%?

(a) ABCDE (b) BCDEA
(c) CDEAB (d) EABCD
ey TOUGHu.’:u@Ju’L‘gt'lgg;‘:@’!LABCDEu:U.UJ ; ¢/ OUGHT S
BCDEA (b) ABCDE  (a)
EABCD (d) CDEAB (¢
16. IfBITER is coded as KLMNO in a certain language. How can TRIBE be coded in
the same language? 3 [ T ({c /]<
() MOLNK () MOLKN | T Bé
(c) MOKLN (&) MOKNL 3 L [\A N ,L (l)l‘_ \f’“
I grTEr # TF MRET 9T F KL MNO & &7 ¥ @ifeq far amar 31 TRIBE ﬁ
I SHT ATT # SR WS HAT A qebeT &7
(1) MOLNK (b) MOLKN
(c) MOKLN (d MOKNL
e¥2_L /e TRIBE LIS bl BHL KLMNO il BITER ]
MOLKN  (b) MOLNK  (a) _
MOKNL  (d) MOKLN  (c) l
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7.

Pointing to a man in the Photograph Ravi said; "His ‘soni's mother is'the only
daughter in law of my mother". How is the person in photograph";féiéiea t(i);;ﬁavi?
(@) Brother (b) Uncle | Gt

(¢) Father (d None of these . . .
mﬁmmaﬁaﬁtmmgtﬁ%m,ma%aﬁﬁﬁﬂmaﬁ
TR ag X R Y Y WO ¥ e aRRrE R R o S o

\@/mé (b) =

() fa @ s awEE
uf/r" ‘e dH Jutd/uufz_ém W ni /s JLA_:}JJ’J u"..:i/}igdu
"Lul’/ d/r_dugff T
g (b de @
Uit (@ Jy o (©
18. In a cinema hall, 8 friends H, 1, J, K, L, M, N, O are sitting in a straight line
according to the following rules.
o J 1s the neighbour of K
e H is just next to the left of L
o} Lis in one of the two seats in the middle.
o} M is the only one sitting between I and L. , ‘
If N is not sitting at the extreme end, then who occupies the extreme right seat?
(@ H | (b) J
¢ K (d) EitherJorK
3 P.T.O.
H L
B-22 (SET-A) ©) :



& ATER
R @ &, 8 B 1, K, [ M, N, 0 e e %W
ARV >
F.
1y

o J,K 1 O ¥
a gRe | ST Twma e
B IR THTIeE L

O dad M, R [ D S e ﬁk\t’

W N IR F ot e W T dor 3, @t o B AR S T W A oy 3
(@) H (b) 7J

c) K (d) ardryarg

- EE IS F L U1} 550000, N M, LK, J, L Hern8ur e g
..‘L,:«MK K :J *

P Gutuel ® 3‘ e PN LL S VLU H %

i 0 D Ml“}_”j}' Il | - e
Ml | -L/,,..ﬁc'_u:u;ﬁjg{b)l w

[\/ ; % i M L ‘H i

e -« M MU!{‘J)‘CLJ}’I A
?‘gwj.z?u;ﬁ?wq’t;égﬂ/éitglé*.u}irtw&gﬂNﬁ
J (b) H (a)
K(J (d) K (o)

19.  Ramesh and Amir start a race, and together they run for 50 m. Ramesh turns right
and runs 60 m. While Amir turns left and runs 40 m. Theh Ramesh turns left and

runs 50 m. While Amir turns right and runs 50 m. How far are both now from each

other?

@ 60m (b) 100 m

(c) 20m (d) 150
B-22 (SET-A) (10)




WY AR PR 7% AT I6 A & M A 0 T 50 Hrew 7 A ¥ ) W@ 7w
e ¥ ol 60 WX Aex ¥ T PR A qzar ¥ A 40 Hrex dwar ) Rew A
1T T ¥ 3R 50 diex A & ToE PR a¢ qgar ¥ ofw 50 Hrex dzar ¥ I
T T AR RE?
(@) 60 W (b) 100 Hrex
(c) 20 WX (d) 150 Hrex
LUz 3932 60 1o\ m 15 Pt & 09K 50 F U Lins sl § &s fins ki plosst T2
i u»/so,,;gty_;)u’u/bﬁiw/”SOJm/u’LJ’/ 593,280 sl e 3 P L

Sl e /»..f U5
100  (b) 60 (a)
150 (d) 20 ©

Direction (20-21): Complete the series in the given questions by putting a number in
place of question mark.

R 7o g ¥ YEar B IFEES e @ WE W 0E GO S| B
A H |

et (20-21):

_J“/J[’/”/Jc«UirZérJféﬁ}jd/uﬁﬁ«”r:(Zl-ZO/JV):,LU,
20. 64 28 92 56 148 112 ?

(@) 332 (b) 296
(c) 276 (d) 260
21. 3.6 16 57 7 1245 750:/%/

(b) 16

(@ 6 )
L e -
© 57 %‘g % (d) 248

P.T.O.
B-22 (SET-A) A (W (11)




2. Stafement: Sﬁrﬁéiﬁedﬁlé@& &cifo ptfagiyXX 7T =
iy saConclasionss ™ 0p e £ e
fols 1 S(@erls 'xxstmrmpn 75 e ik £ f’,} ssfit 02 e 4 e
(b)
(©
(d)
T %ﬁar XXX %ww%u T ey

(d) a’m 7= 7 ¥

at
t ) e

P

ME SPine #ew § HEls

& v et & fre
Most of the leaders are corrupt. ¢ % 75 TFHdb! B
'XXX'is not corrupt;, 00f (1) 331

F5IF 00 (g)
Leaders are not COBMPL; (1. s5fr ge

'S (\.'.;; ot . »®
XXXdiu‘lub&U?alLfJ
NI 19¢ { S0Uq vd 200 P rovig i OI 290192 - (1X-85) moii I91(S,
- :.~
81y f10iiz2un
_u?ul}'&«b’//ub (b) _4U’){OXXX (a)
* BlE ISP 50 10 = -

o ;L}u*’uu,&m ™

i -gif"uu& XXX ()
23.  What replaces the questlon mark? 334

U g 4,

f M

-
o

]

4 4 Hit = ' %
1 oy WAL =3 §* a3l
A i\s 4 a4/ '2\

1 3

e g~

11 6

(a)
(0

I o @ o wmr Ay 2 o

15
17

(b)
' (@)

16
18

sl fs]afa] Tululs
(@ 15 (b) 16 ~ 0 (s

o1 P

17
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i 5 RE PSS TN
i3 | 7 | o R R

gvgaf (d) | fisF FEEe  (8)

16 (b) 15 (a)‘
e (b) 171 )]
18 (d) 17  (©)

16 2 15 4

f_-\:\‘.‘ W w K % \ \“‘ o 1 \\"‘-\ "\L

24, Ina certam code ABET is wntten as 3 5 11-41, how will CURE be written in

YA TN Ao ¥
same code‘7 P N e " N £ UR E
(&) SN := (D NN AL A 3 5 -~ i

@) . 341 5 11 (13?# 9-35-37-11

(;) 117511 ) e pA33TAL »
ﬁﬁ‘aﬂaﬁgﬁABETaﬁs-S-ll-ﬂﬁr@TW% CUREaé‘rsvshaagﬁr%@t

5=
")

fer@r sT@EmT?

gsant (Q) i F
(a 3-41-5-11 ~ (b) 9-35-37-11
abBUYe (0] £ )

() 1-17-5-11 | D T o o £ 5 e
¥l CUREJ,,(;:-(_MJ 3-5-11-41 f ABEMJ__ AL
9-35-3edts Q) -l @‘; |

14337 @) LTS @)
25. What should be placed on, the position of question mark? |
Pitultary Bram Thymus 2
(a) Resplratory Tract (b), Sgipal Cord

(), Throat (d) , Chest

e

P.T.O.

B-22 (SET-A) | (13); (A-THe) £¢-d




T R &t e W & w@r e ik 2
Rregedt : wfess : : oo ;7
(@) sEuT T (b) #ave

@/4'  (d) b

’ . &, & *
?4-lgug&(/,u*z{d/uwglr~i£¢/&% e

UG :ét;:d;,é

4oz (b) S
(O £

26. What should be placed on the position of question mark?

Blunt : Sharp : : Sow :

(a) Hide (b) Reap
(c) Farm (d) Spade
mﬁ%a&mwmr@rmm%;?
EARE R
(a) fourm (b) e
() @& (d) &R
t¢ (o
J (@)

B-22 (SET-A) (14)




27.  Which of the alternatives may complete the incomplete Pattern?

? & O NV NN NVl

: D’V’<l Q[>‘<]’ <>><> O\
<

‘A’A’

(a) (b) (c) (d)

e § ¥ A ar e Yot U AR TH R 2

? N SRR

> N g
> (a) (b) (©) (d

< A’A’

?%CC/J‘%/%,J‘(L'J;?L@I

?
O 0:0:0 oYl
:‘>0<‘:
ATA

(a) (b) (c) (d

P.T.O.
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If P means +, Q means X, R means + and S means —, then 18Q12P4R5S6 Meapg.
@ 59 (b) 90

(c) 53 g (d) 43
A","AQa;raTa(x R esram‘+3ﬁTSW3“f b

28.

!ﬂ% P Esr aw! s
Aol /‘/\/Y 5 L \ :
18Q12P4R586 w oy |8 &2 7138
@ 59 | - ® % NNl
; /7/

o 3 (d) 43 e

vh"g18Q12P4RSS6;‘—‘4W(S/:H‘g?lb‘KR“LX_.,Jb/KQ:‘4+?Jb»KPﬁv y}; ,

[3 Sﬁ,*)
90 () O @) g
3 () 53 (@) /‘j

29. In:‘,l‘2"hQUfs _hoﬁ many times 90 degree angle will be formed between the hour and

minute needles of the watch?

(a 22 (b) 18
(@ 78 5 T (d 56
lzﬂ%#uaﬁa%aﬁrﬁ%aﬁgsﬁ%aﬁammgo%ﬁmmm?
® | o | () 18
© 78 -V B BN 56 ¢
N VKLLJ’c,,uKJ/C9OJLJ{)V»£urrd/u/»bfd/d/u’é12
18 (b) 22 (a |
56 (d) . AeJoret

B-22 (SET-A) (16)




30.  Select an alternative for the empty box to represent 3 pattern.

(a)
(©)

11
15

B,
//

€

@ﬁﬁmmw%mmm%m@ﬁmwmaﬁl

(@)
(©)

P.T.O.

15

B-22 (SET-A)

5 5| 10|
4 17| 9
10 | 2 10
b 12
d 10
5w 15| 10
4 171 9 -
1012 | 10
(b) 12
(d) 10

YIFSEYE L o8 LSS

5 15| 10

4 171 9

10 | ? 10
12 (b)
10 (d)
(17)

11
15

(a)
(©)




31. Which of the following attributes denote great strengths of a teachr ?

(A)  Full-time active involvement in the school management

(B)  Setting examples

(C)  Willingness to put assumptions to the test

(D)  Acknowledging mistakes

Select the correct answer from the codes given below:

@ (A), (B) (D) (b) (B),(C), (D)

© (A, (©), D) ) (A), (B), (C), (D)
Frfofea & & & < st Rrers 2 wer afvdt &t agiidt & 7
(A) W@ YaEw & qof s afea Seferd

(B) Samer ¥ s

(C) wransit & qdierer & =T

(D) 9wt B FEHR HET

T Ry T A ¥ F 98 o w1 T -
L@ (A),(B)(D) ) (B),(C), (D)
© (&), (©), (D) (& (A), (B), (C), (D)

B-22 (SET-A) . | (18)




St A S BB L BN e o o o
dAJSGIELAYF ()

L/FsJe (B)

UL, S (O)

/U2l (D)

GG 2 b L st

(D){(C)«(B) (b) (D)(B)(A) ()
(D) LC) (B)«(A) (d) D)(O)(A) (o)

32. Which one of the following statements is correct in the context of multiple-choice

type questions?

(a)
(b)
(©
(d)

They are more objective than true-false type questions.
They are less objective than essay type questions.
They are more subjective than short-answer type questions.

They are more subjective than short-answer type questions.

frfefEa & & B a1 Fo Sgfecda yer & T @ get | @ ¥

)
(b)
(c)
(d)

9 FE-TAT JBR & 9 b Jon § i aegies ¥
9 e IR & 99 B g § 0 asgie B ¥
9 VY-SR YBR & T goen & sftrep At ¥ |

T FE-Td TR & Y B g § oiftrs afets ¥
P.T.O.

B-22 (SET-A) | (19)




e Bolb e Bt soin o f Lol g,
L LAy e e WL Flin, (o
sl el o, o

Ut Sy ,,Lju:;wéu)!ri_bqﬁ/’i (c)

_wLnJﬁngu:é,-wLawréf' w»'fz (d)

3. What are required for good teaching?
(A)  diagnosis (B) Remedy
(C) Direction (D) Feedback
Select the correct answer from the codes given below:
@ (A),(B),(C) & (D) () (A) & (B)
©  ®).©&MD D) & (D)
3 R 3 o 7 oy #
(@) frm (b) Sum
(c) e (d) wfcfrar
ﬁ%ﬁqﬁmﬁ%aﬁwwmﬁ:
@  (A),(B),(C)& (D) (b A)&®B
©  ®B),(C) & (D) d) (C)& (D)
B-22 (SET-A)
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34.

e G UL LR
i (b) S @
T (D) e ()
:q/g?.,méz_ﬁffé.,u:uﬁ;
(B) s (A) (b) (D) 151 (C)c (B) (A) (a)
(D) s (C) (d) (D) us1 (C) «(B) (c)
Identify the important element a teacher has to take cognizance of while addressing
students in a classroom.
(a)  Avoidance of proximity (b) Voice modulation
(c)  Repetitive pause "~ (d) Fixed posture
Fa & BT Y AR A T Rrews A HA Y D et o B e w®
(a) frpear & TUm ()" ormar wiggR
(c) AT I A BT (d) e s

-q/w,uw&ﬂg,rz%dgswﬁu?ﬁrwwzi_,wc,,wutrum!

ezt i T (b) /“/:'_c//“ (a)
S A (d) DI (o)

P.T.O.

B-22 (SET-A) Q1)




35. As a teacher, select the best option to ensure your effective presence e th

classroom?
(@)  Use of peer command

(b)  Making aggressive statements

(©)  Adoption of well-established posture

(d)  being authoritarian

T R B W & mﬂmmmgﬁﬁaﬂm%mwm
frper ¥

(a) et (dr) Smaer (seie) a1 T

(b) mEmE TT™ T

M W WE § Wi 29w it ST

(d) a«mEE Emr «

I % ﬁ{ALLw:?/dizr}?wu:ruwbﬁégf?&mug

Loetbobie (b) Je 16Uz
tsest T (d) bl oos S P K

36.  The use of teaching aids is justified on the grounds of:

(a)
(b)
(©
(d

Attracting students' attention in the classroom
Minimizing indiscipline problems in the classroom.
Optimizing learning outcomes of students.

Effective engagement of students in learning tasks.

B-22 (SET-A) 22)
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(c)




&0 TETTAT BT SYANT T AU W IR §:

(a) oTEEw ¥ B B S AHRT HET)

(b) e SGTETENAT B THEA B FH HTA 1,
(c) Bt ® WEy B TR H SAIHIA |

(d) ey & Tt § o A TR A -

:fg"_}'lgg_ejdlgjbplﬁultﬂ:/;

S AL Lot ) G AW (@

37.

38.

il surlE @ G ©
Effectiveness of teaching has to be judged in terms of:
() Course coverage (b) Students' interest
(c) Learning outcomes of students (d) Use of teaching aids in the classroom
Ruregor 2 goTasiiTET B TAd wand A SAiET T RY
(a) uTEEHW FAA (b) oW @ W
(c) BB dEF & whRomm (d) e % R wer F I
e ?{hhflﬁz/ubﬁg/ikéﬁi,nJUH‘7Higﬁblagb)
S (©) A @
sk (D Sl @

One of the most pow erful factors affecting teaching effectiveness is related to the
(a) Social system of the country (b) Economic stafus i it

(c) Prevailing political system Y] Educational system P.T.O.

(23)

B-22 (SET-A)
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W AP nldasa

e O (ki (9

39.  Which one of the following is a key behaviour in effective teaching?
(a)  Using student ideas and contribution
(b) Structuring
(c) Instructional variety -
(d  Questioning
Frafefen & & 2 gt Rreror % w et srer & 2
@) Br & fardl o dmer v S A
(b) T
() e frar
(d ysam ‘

Rl e bl s

?‘a l/u:(c. Je J.: dosxrsb, d,ggd Sk Sy
=S (1) e ] sl S0 (a)
L/l (d) (:' Gk (©)

B-22 (SET-A) 24)




40. Which of the following learner characteristics is highly related to effectiveness

of teaching?
(a) Prior experience of the learner
(b) Educational status of the parents of the learne
(c) Peer groups of the learner
(d) Family size from which the learner comes
e & @ 2T <t Rt Pl R 2 i & < 2
(o) v A & wwr-Re e T
(c) drEy I B qEHH TE )
(d) dRaR & R Frad e amn swr ¥/

?‘ay@up’c — SRSV !:(ufb;:«yr‘} u’/& Er Tt BTV

I o Jq,dl,LLuéf (b) el 2L KT () |
-t Tuuefcfy’v&uu (d) ..,:A/f KUs? VLLU&’E (c)

41. If majority of students in your class are weak you should
(a) Not care about the intelligent students
(b) Keep your speed-of teaching fast so that students' comprehension level may
increase.

(c) Keep your teaching slowly

(d) Keep your teaching slow along with some extra guidance to bright pupg-T .
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(@ SR Tt & A ¥ e i

(b) mmwmm}a«wmwaﬁwwm‘?“w
(©) o Rnewr @ e @

%) WWQW@WW%WWWWR}
v @

Sl T o it Sy
U S bs (
A A S i
g (o
_u:{ydffwz@uwéwéwz;@,,f Cets (d)

42. A teacher who is not able to draw the attention of his/her students should

(@  Evaluate his teaching method and improve it

(®)  Resign from the post

() Find fault in his pupilg

(@)  Start dictating
wﬁrma?mmﬁwmwamﬁfamﬁmwﬁ%,wmaﬁ%q
@ ﬁmmﬁriﬂfmﬁaﬁraﬂﬁwﬁ

(b) = F zxfig r

(©) e s i,

(d) fore g R,
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-LUfeA (D)

43. Which of the following is the most important single factor in underlying the

success of a beginning teacher?

(@ Scholarship

(b) Communicative abilty

(c) Personality and its ability to refate to the class and to the pupils

(d)  Organisational ability -

Fretfefas & & i T oo R @ wHaE B Aari S § g T

UHd HRE & ?
(@) wrwRT
(b) Hardr ewar

(o) e 9 T w o R & waE @ @ e

(d) eI &l
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A ()

ol (b)

2o e Un/ TS sl ©
St (d)

44.  Ifsome of your pupils miébehave with you in the college campus you Must

(@)  Report to the School Authority
(b)  Report to the guardian
(c)

Try to improve their behaviour by your own character and scholarsﬁi‘p

(d)  Mobilize other teachers against such students.

mm@&waﬁaﬂﬁwﬁmmmmaammm
Tifeg-

(a) A W R 3
(b) S B RO 5y

(Q/fmaﬁaaﬁtﬁmﬁmwﬁmmmﬁl
() R ot B R oy fRwert B e
NG TTLL Sy L e o Lol i),
_q/.ugjf&mdﬁl (a)

-g[/’l‘u{zf:w/?/ (b)
_q/quJL&ﬁffdfiéqusé.?.}/’awuufav_f ()

-q/J}Gwag/»Jus&w@ (@)
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45. If back-benchers are always talking in your classroom, you should

(a) Punish them

(b) Let them do what they are doing

(c) Askthemto sit on the front benches.

(d) None of the above )

SR g Fa F 98 A I (FT-Y9) B o whew a@ w @ ¥ o s HAT
LY

@) SERER S

) SHEFAIANTREE_
\@4% IO H T | B H Fe |

(@) S { A DS T

eI Izl Sah 288 LG LUt L T

uj‘g//;»?q;l_/;:ufl (b) »lfu.‘.i}l (a)
S S oiir (D) e oS (©

46. An effective teaching means all of the following except
(a) Teaches with enthusiasm
(b)  Finds fault in his/her students
(c)  Puts emphasis more on teaching than on class control
(d) Interested in making the subject matter understood rather than on completing

the course by
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() S & w freen &

(b ot erst § el Fraprerar

(c) Rreror o e Frarsor & anferes it 2 B

(@ e e v Ry o e S T g |
LJ!LV«;.,/@JJ..J’?MVK@J}';@Q

—e bty AL s fp (a)

-‘Lﬁthfk @w;: ®
~Gamig kol e Jy 2 g ©

BB LTt L L S5 @

47. Ateacherin the class should keep the pitch of his voice
(@)  High enough (b) Low
(¢©) Moderate (d) Sometime low and sometime high
1 H 0 v @ sy ST Bt R e i
(@) wafe (b) =
©) D 5w o F© T s
S-S Tg e ¥
i o il @
Gt (a) e
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48. If students are not able to follow, you should

(@  Give them prompt (b) Make the teaching points easy
(c) Illustrate with examples (d) All the above
AR B ST B F wEH T E, @ sy wiee
(@) SRIWT, (b) Rvror Rigalt @ s g
(c) ST { FHEEY (d) s at
G-I Tt Y]
S Wekid (b) D B (a)
e Wpssr (d) Ul e (0

49. If some of your student(s) pass remarks on you, you will
(@) Punish them |
(b) Expel them from the class/school
(c) Take revenge while evaluating their internal test answer sheets

(d) be impartial at the time of evaluation

e IS FB B AT R Roqoft e & ar g HA

(a) MR (b) = wa/am ¥ Frenfm &
(c) Tl SAaifiss werT Ser YRewsit 1 A N T T A L
Wmm%wﬁm&rr% Sy
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LyleWal WA bie o
-é—)"/uft (a)
eI
_ﬁﬁrlz'?lz.nz_:’.o’/’tgKuifdlﬁtfé?dﬁ)&u’ (c)
e e Ly 1 (d)
30.  Ifa teacher is not able to answer the question of a pupil he/she should
(8)  Say that he/she will answer the question after consultation
() Rebuke the student and make ther keep discipline
() Say that the question is wrong
(@)  Feel shy of his/her ignorance
w&wﬁmwm%mwwéﬁﬁwﬁ% at 38 =Ry
(@) W@%WW%WWWWW
(b) m#waﬂw%mm#rak
(©) & F&T 5w o
(d) ool sttt & ot TELH B,
al!gcﬁg;u’(uligdlrﬁfkdlbwg}ﬂ
_Kg;umw&.,ltw’q_wf (a)
-g.lgWém//.wﬂl;.gwa‘qw (b)
-z ot (o)
5t M (@)
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51. Classroom discipline can be maintained effectively by

(a) Decorating the classroom

(b) Knowing the cause of indiscipline and handling it with stern hand

(c) Providing a programme which is according to the interest of the pupils

(d) None of the above

F1 B FAE B AT B ER o= @ & awe ar o wwar &
(a) T B TIMEE 1

(b) SIATET EFCT BT BRI A R I/ ORT Forerr .

w/@wﬂ%qwmﬁﬁ@ﬁﬁﬁm%m}
(d) SR d F BE @

- bbb e 8 seundbin L s
“ .b)lf“quu’iK (a)
LIS L S oS Lblos St b (B)
w L (Gt e i (@
SE e o (D)
52. A teacher in the class is the
(a) president of the class (b) _director of the class
(©) {e&gi_er and guide of the class  (d) All of the above
e § T frers ®
(a) e T SremE (b) e &M FMasws

(C) AT 3R e & ARtEsfs id?/%qﬁw it P.T.O.
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53. Inthe development of which of the following verbal guidance . ectiye.

(@)  concept and facts (b) attitude and values
(¢)  Relationships (d) skills ,
ﬁ%ﬂﬁ#ﬁ?ﬁﬁ%ﬁﬁ%ﬁ%ﬂﬂﬁ%%
(a)  orEmoT ok ey (b) W ok g
OB (d) E
e QbR B g,
Atz (b) Feund  (a
=7 (d) =G (¢)

54.  For measuring quality of education in schools or any institution, whijch of the - |

following is/are important?
(a) Available infrastructure

(b) Available Manpower, teachers and principal

(c) Students achievement

(a) ST v gty (b) mm—wﬁaﬁmwaﬂrm
©) ot 2 iy @ SRR ey
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55. Any educational programme should be planned according to the

(@ need of the children (b) ability of the children

(¢) Interest of the child (d) All of the above

ot ot A Fe A AT THEH TR T el e

(a) == TE (b):l?ﬁ N amar

©) o o _ @i o

Q’q.lg&n&wféJ/cgﬂd}g/ﬂdk,,!‘?&rl/'j/’&w‘f‘{u’(

é..J:GJUJi‘ (b) .:«A/Ju,{' (a)
o (d) GHle ©

56. Teacher's primary responsibility lies in
(a) Planning learning experiences for the children
(b) Implementing educational policies
(c) Maintaining students records

(d) All the above piEE
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Rrerent a9 e Rraer fifkd & IR
() Tt & forg et @ ot @ Ao T
(b)  Siferw AR Fr g FTT
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(/3L L e (b)
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57.  While teaching in a classroom if there is some indiscipline, then the teacher shou
(@)  Not bother of what is happening in the class
(b)  Continue his/her teaching without taking care of the indiscipline

(¢©)  Keep quiet for a while and then go on
(d)  All of the above

(c) m@h%mm@aﬁ?ﬁﬂaﬂﬁ‘@

(d)  Swm iy,
S s tbh;‘a;ﬁruﬁfuib}a(%ﬁchl.bz e
-Q/va,d/u"agmgutuw (a)
~U~“{L5A?u:’ﬁ&'/éféjdgng,(w ®)
- L Vslutdred £ 508 (0
—hosir ()
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58.
(a)

(b)

(©

(d)

A teacher is expected to do all the following activitieg axcept:

Participation in community affairs/activitieg
Taking interest and participate in politics
Assist and guide pupils to solve their problemg

Sponsor clubs and other school affairg

R @ Frafufaa @ TRfafert #F +3 & owie 2, fyarg -

(a)
A
()
(d)

arEie A /AfafattE § qeferd
Tt & ®Rr SR 9IT &
et & w7 gt # wewar oiv antestt wwew
AT AR I Wl A § TR
et SO Ut s o e Qo §E destns”
l}:&éuﬁ U3 (@
owssbutert  (b)
Ot SIS (©
el S ¥ (@)

59. Before starting the act of teaching a teacher should

(2)
(b)
(©)
(d)

Know the existing and previous knowledge of his students

Be aware of the environmental variable acting on the mind of the pupils
Be competent enough to arouse the curiosity of his pupils

All of the above
P.T.O.
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(b) ;%wh‘a‘f% RETT W 0 et A TEEefd T ! ‘
(c) Vaﬁﬁ@ﬁﬁa&ﬁlﬁmwﬂHM$mmmﬁwmw
@ swim ek

Sopdie LU SN by g o

Lol semnL g, o

- T, waﬁ,u@‘&u»f Cos (v
nJlKL/;l@/U"‘{ZU”/’ lﬁ'é...—’u (c)

o (g)

60. Teaching is mainly a process of:
(a) Asking questions and assessing the learning
(b)  Guiding the activities of the learners

(b) Hearing the recitations of learners

d An of the above
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61.

62.

P.T.O.

e H‘ ug/,u}’d:yed/;
(L/‘}L‘."'JJU&”);&/J{A"T (b) KJ“.’."]'}’LJJ)”TJ)lZ/c,Ul/ (a)
= lpair (d) b a7 (c)

Who of the following own the sportsperson of the year 2019 by Times of India

Sports Award?
(@ Rohit Sharma (®) P.V. Sindhu
(c)  Virat Kohli (d)  Jaspal Rana
T e A wNEE e I A 2019 F G-Rawdy Pt # & 2@ 32
(a) e g (b) ® % fig
() fre Ft (d) ST o
‘-’c;-J/,cf::.:r‘lK 20196.)‘/‘:)’(4'—ufgfj,?z,cf;y;‘ﬁblglu"m;lgfcld T4
ze$r (b) e (a)
> -d) s (o)
Which of the following cities is considered to be the outbreak point of COVID-19?
(a) Beijing (b) Rome
(c) Wuhan (d) Shanghai
et & & @1 &1 98 Covid-19 &1 YT &g WA e &7
() e (b) W
fef T - (d) g
S bl 5 UisJ_ L ¥ COVID-19 Plotfe Ui 5000
(24 (b) “é: (2)
JP (@ S C0)

B-22 (SET-A) (39)




| 63. Hemant Soren was sworn N 88 oeverreren o
of December 2019.
th
o () 10
(@ 9 h
© 1" @ 12
[ I G IR L '
3 @R X 2019 B Rew T § FRE@S D
; 0d
© 119 @ 178
VTSNS S 1 VS AP S— L2 L201950_ 1 0 e
gs10 () e
gt (D Sl (o
64.  Who of the following has been appointed as the first Chief of Defence Stafy o
India?
s (b) Gen. Manik Shaw

(c)  Gen. K.M. Cariappa (d) Gen. Bikram Singh

ey wﬁdt"‘fyjbﬂ%ﬂf,{ut’«wfufc,ufdﬁ?”"
CEL2 (b) etz @
iz @ AL ©
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Which of the following countries has become the first country to make entire haj

65.
process digital?
(@ Iran (b) India
(c) Malaysia (d) Turkey
mﬁﬁmmm#ﬂﬁmﬁmmwm%ﬂﬂw
7
(@ ¥ (b) ¥
(c) \(W
??,K@Jwguué_&ﬁ:‘fﬁ_gLé_ﬁw/c_u’:dsgjp
L& (b) Uizt (@
§ (@ b (©
66. The theme of 2019 World's AIDS day was:
(a) "Communities make the difference"
(b) "Sociéties make the difference”
(c) "Politicians make the difference"
(d) "NGOs make the difference"
2019 faga Tgw feaw &1 fasg o
(a) “THEE & F § V7 () i B B E
(c) il & & & I” (d) “oT oh o T HWQ BV
(B § 2%y e 35412052019
u L50/ee” () B (@
PTO. WLiiHE” () ULndjobert  (©
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67. Long March-5 or CZ-5 is a: e
(a) Satellite (b) Carrier -
(c) Robot () Fastest Compt
c obo i
=T A5 AT @ A5 T
(a) WU (b) aTEH THE
g/ N (@) T AT T
e LIS LISLS -y
<igd (®) G (a)
s (c)

Jeder 2z ()
Which of the following countries was the partner country for the 34th Surajkung

68.
International Crafts Mela-2020?
()  South Africa (b) Ethiopia
© Uzbekistan (d) Sri Lanka |
Teored ¥ & 219 W A 34F s SiexsiT RIeT Aw-2020 B R Wi Ay
qr?
(a) T e (b) sReAfwET
(c) Swfrem (d) friar
b Pete it spund £2020. 4y, Eers SIS Ty
L1 (b) 307 (a)
69.  National Youth Day is celebgd/ = UL"«CJ' - o
rated on 12 January op, the birth anniversary of ........ E |
(a)  Dr. APJ Abdul Kajam (b) Chan drasekhar A f
(c) Swami Vivekananda (d) Ramkri shis Bibariliais
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70.

7L

........................ B TR werEr e ¥
(@) TS orgw waw (b) ==srer smome
c) Wi fRwET (d) e gy

- bbb Ol Pl g Lo S8:32 12002 948 9

rw"‘:’;—QG’/“/’j (a)

L8y ()
Which Country has finished the year 2019 as the No. 1 shooting nation in the

- &
MNil P 1h2 (c)

S (@

world?
(a) USA (b) India
(c) China | () Ttaly
e 29 ¥ T 2019 @ gFAT H i‘qﬁqw%mﬁmm%?
@ Zwu (b) wra
() == (d) w=h
e P 201900 L By e edo S bd bl JERS ALt
baxr (b) Ialy ()
d@ ot (©
Name the longest serving ruler of Oman who recently passed away.

(@ Qaseem Soleimani (b) Qaboos Bin Said

(¢c) Tamim Bin Hamad (d) Haitham Bin Tariq al Said gt
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AT B R WY T q daAr FE@ A
& T
(o) e v (b) % :i -
() W R T (d) ¥a &
-wz’f./dts?wtcﬁdwuflzrwufﬂ-—”’;’/ "’”‘é‘i’.bé"'wéw
et (0) dt‘f’fb: (a)
o (@ o (9
72.  Which port is now renamed as the Shyama Prasad Mukherjee Port? |
(@) Cochin Port (b) Kandla Port v ?
(¢) Chennai Port (d) Kolkata Port
I e S&TE HT T T8 B JAFIGETE ol §CNE B AT W &2
(a) == FaTE (b) wizar 9
(c) == dcme JM HIABET SETMS
Se VW8 Al 2 S itk s
Uk (b) AT @
2atgs (d) -
73.  Indian Railway signed MoU with wich of the following for Pha.se-II of e-Office
Execution. | 1
(@) RailTel (b) BSNL i
)" Jiv (d) Infosys

Wh&#é-aﬁm%wm%ﬂw-lli‘mﬁm%mqqaﬁq\wm*
e |

ke Prr” (d TR
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JieLiosid (b) AT,
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74, Where was the World Future Energy Summit 2020 held during the month of
January 2020?
(@) AbuDhabi (b) New Delhi
I (c) Geneva | (d) Tokyo
’ﬁ frog RSy Sl RIER WERE-2020 SR 2020 @ WER F wet o R T
a7
(a) orgeey (b) 7% feest
(c) omar - (d) S
LB 2020- 081 708 Hs A 22 20200652
dog (®) syt (@
W ENC) 12 (c)
75.  Robert Abela has been elected as the new leader and prime minister of which of the
following country?
i (a) Morocco (b) Tunisia
(c) Malta | (d) Algeria
e eren ool & & b g & QAT of WL g T E2
(a) weFR! (b)
(c) AT (d) st P.T.O.
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LA (d) e (o)
76.  Name the tennis player who has won the Men's singles title in the inaugural ATP
Cup.
(a) Novak Djokovic ~ (c) Rafael Nadal
(c)  Roger Federer (d) Denis Shapovalov
wmmwmwﬁﬁmqacﬁmﬁmwmaﬁm
g1
(a) “mETE AW (b) THw =
(c) TN &=} (d) = arEmE
e Lo S At Y1 G B 2 bt 1
Jx kL () eslzSsy  (2) J
TG wpzu (o)

77. Who among the following has been appointed as Director General of Central

Reserve Police Force (CRPF)? j

(a) S S Deswal (b) Anup Kumar Singh
(c) AP Maheshwari (d) Samant Goel
P & & frd 3 ford SR @@ (CRPF) @ wefiyms & & & Bl
faar mar 22
(a) UH OH ga (b) ¥ B Rz
(c) U dr mdgad (d) wwie e
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?%Mw}’dﬂ;{//uK(CRPF)W’;UJ{,’MZJJ/&..’U:(&JJ};Jﬂ

FU_9 (b) S A (a)

d/)%@;.l (c)
ot Which of the following Districts received Swachchata Darpan Award 2019 for the

Jiesl ()

pest performing districts on key swachchata parameters?
‘ (a) Meerut (UP) (b) Guna (MP)
() Kapurthala (Punjab) (d) Puri (Odisha)

ca & @ e B T TIE B AUET W A Yaii w aw et @

mmmg{@r{ 2019 A& BAT?
W i (b) T ()

Wyre 20093 wtgrd L& S Key e S = o sk

eV
G G2 @
23062 (d) ()M (0
79.  In which of the following city, the fifth edition of Science Film Festival of India,
SCI-FFI 2020 was started on 15th January 2020?
(a)  Visakhapatnam (b) Panaji
(©) Kolkata (d) Chennai i
B-22 (SET-A)
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SCI-FF1 2020 15 SMall 2020 &Y y& foam mar & 7

(@) FremETTwE (b) oty
) =rwwmr (d) 3=
- Us5215 6 T¥ SCI-FFI 2020 Jdi“su;,fgKJHﬁ@’VLUu,M‘J;JLJLi;?Jp
% UL 22020
& () RS
GG 2 (©
80. Who has won the ICC ODI Cricketer of the Year award at ICC Awards 20197
()  Virat Kohli (b) Pat Cummins
(c) Rohit Sharma . (d) Ben Stokes
ICC Sargy 2019 &, ICC ODI fFdex 3% T $av s Rray St &9
(a) fovre @il (b) ¥ =wfiw
(c) fea smi d) = < |
?‘égei_u’?ﬂgtjzld;_}T;f/ﬁ}lz_su,ug@Tuﬁ2019jjjlgidd@‘f
| /.:;; (b) s (a) ‘
S (d) e (9
81.

‘Which state government has signed a memorandum of understanding (MoU) Wi

the IUCN to red List orchids?

(@)  Arunachal Pradesh (b) Andhra Pradesh

(c) Assam (d) Karnataka
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o T T T UCN P T ¥ e fds @ g woreher s (MoU) W

e A E 7
o -t (b) sriergRer
o ) (d) wfes
?gz?é.ﬁh%/,(MoU)MB»&f 2L M Te AL TUCN LG
FagpuT () Gyt (@)
£tS (D) LT (©

Which bank recently has launched cardless cash withdrawal facility from its

82.
ATMs?
(@ AxisBank (b) ICICI Bank
(c) HDFC Bank (d) Kotak Mahindra Bank
m%‘aﬁmaﬁmﬁqﬁ@%m-ﬁv%ﬂﬁmﬁaﬁgﬁmgaﬁ%?
@ i (b) o & o @ oné ¥ |
() WATEHT (d) ®iew AfesT S5 ]
G47sd1sdT () LUt @
AP ANCY Gedse (©
83. Which one of the following countries will train Indian flight surgeons for 1
Gaganyaan mission? !
(a USA (b) Russia
(c) France (d) China
: wifE
mﬁm#%#mwmﬂw.aﬁﬁmm%m
FAM? |
(a) W T SR (b) &
() e (d) @ P.T.0.
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Ji (b) USA (a)
o (d) S ©

84.  Ritesh Agarwal, who was named as the world's second youngest billionaire, is the

founder of which Indian start-up corripany?

(8  Zomato (b) Oyo Hotels
()  Byjus (d) Swiggy
ﬁwmﬁ,ﬁ%gﬁméwmwwﬁr%wﬁﬂmmwmm
ARAT R H+H & Heemgs & |
(a) Smt (b) st Breer |
(c)/ Byjus (d) Swiggy |
?‘4,&;(‘3;;:@&;&&,;7&,‘9rw&;;.,/yﬁ/,%g,&‘duﬁﬁ %
Srgsl (b) A (a)
E @ UE (0 |
85.  Which state recently passed resolution to conduct a caste-based census in the state?
(@) Bihar (b) Madhya Pradesh
(c)  West Bengal (d) Maharashtra
%Hwﬁma#wﬁmﬁmmﬁawwmﬁwmmﬁam%?
(a) foEm (b) wer wRyr
(c) ufdedt s (d) werms
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Jrsg ot (0) “ /u~ (a)
Ay (D dmft ©
o B of 2020, how many languages in India are given the status of 'Classical
{anguage’” ’
a2 (b) 4
b | (d 8
2020,%%1?%7&‘1@@3%‘31@3“@’ @ Tt R w32
(@) 2 e
) 6 s
e lapnt ks YOIF S esineF 2020
4 (b) 2 (a)
8 (d) 6 (©
§7. Which association recently collaborated with NITI Aayog's Atal Innovation
dule for Indian

Mission (AIM) to launch artificial intellegence (AI) based mo

School Students?

(@ FICCI MASSCOM

(0 ClI (d) NSC
o & % o e 3 i e B B R gRw g (¢ 9m) s

Wﬁmm%m@mﬁa@m%mmﬁm@m@@

B WY T fear?
(8 FICCI (b) NASSCOM
() cu (d N SC P.T.O.
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NASSCOM (b) FICCI  (a)
S (@) §idts ©
88.  Which of the following is the theme of the 'National Science Day' 2020 ?
(2)  Women in Science (b) Children in Science
(c)  Youth in Science (d) Divyang in Science
ol & & 2w fsw Raw 2020 o7 feg & 2
(a) e # e (b) foorr & 7= |
(f st gam (d) fowm & Reain |
Sl U soir PSP K 202003087
&£U O LIPS (@)
Lt (@ UzISS L (©

89. What is the interest rate on deposits as announced by the Employees Provident

Fund Organisation (EPFO) for the financial year 2019-20 ?

@ 8.9% (b) 8.7%
© 8.5% d) 8.0%

FHA  wfesr Ffyr dmeT (BPFO) gart e af 2019-20 & R s omr W
I T E 2

(@) 8.9% (b) 8.7%

© 8% (d) 8.0%

B-22 (SET-A) (52)




’ it
il

‘ it
: {i
'”!

' i
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b Ll (EPFO) 2 S Ths uab
o i oM EEIROTINE s 210d La019-2000

8.7% (b) D
8.0% (d) 8.5% (c)
90. which [ndi1an institute has developed an Al-powered drone to counter unregulated
unmanned drones?
@ 1iT-Delhi (b) IIT-Madrs
©) [ndian [nstitute of Science (d) DRDO
mm@uwwﬁ“ﬁ“@’mww*m Al- G S fesR
fm 7 ,
@ o o SR (b) oE o A
(o) e o (d) & o
o L] w,z_‘i;d T 1 L SIS L LA e Fdeaes”
TS () bl @
JSS3785 (D) u*v.:lu/u/lu st (c)
91. Which of the following elements behave chemically, both as a metal and a
non-metal?
(a) Argon (b) Xenon
(c) Carbon (d) Boron
ﬁﬁmﬂﬁﬁaﬁquq@aﬁ?@ﬁtm@%wﬁmm%m
HT &7
(a) omfa (p)
(c) (d) I P.T.O.
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sz (b) ST (@
¢ (d) sk (c)
92. Faraday's Law is associated with:
(@)  Electrolysis (b) reaction of gaseg
()  pressure of gases (d) Temperature and pressyre
TS F e W et gem ® 2
(a) AR (b) ¥t @t e
() e =" e (d) T iR @

‘g.z{l)auﬁd;’@ﬂu]f"{gﬂ}

|
Sk @) $20: @ I
Aol 7os (d) % KU”:'// (c) }
93.  Lime water in the open air turns into milky because of »
(a) Oxygen (b) Hydrogen
(¢) Carbon Dioxide (d) Nitrogen dioxide
Gl & # T 9 g @ o 2, awe

(a) i (b) =R
\(}’f AT B¢ SHfaraTEs (d) e =% sifraes

-‘Lb@nd#’%»éy):;angd}@A&kKL)Zlezd;
oty (b) F T ()
T /l:‘cﬁ)/'/t (d)
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Goaps are tHE eeiensimssissinsassins salts of higher Bty fie
04. 0 Sodium (b Alkali
©) Fibre | (d) POtaSsmm
T e a9 A D v, waor ¥
(@) W (by” ame
(0 TR (d) Ry
B L i C;i &'Ub
J& g1 (b) ks
r:e{ L A6 (¢)
Pyridine 1s an example of which compound?
95.
(@) Aldehyde (b) Alkene
(© Heterocyclic (d) Ketone
qeddi fre difes ®1 T ST 37
(a) TSRS (b) Tew
(¢ taElRS d) 2=
S S 6A
a2 (o) BT TR €
g (D) g (©
: : WO
96.  Which of the following help in the synthesis of proteins from amino acids
(@) Mitochondria (b) Golgi bodies
(C) P laStidS ( d) RibOSOIIlf.BS i %?
et ﬁ%mmm%ﬁm%@sﬁwﬁ«
(@) A (b) TR
o er (d) T

B-22 (SET-A) (55) »



?‘¢ t‘/g,o L«c)/c, e J“ 5.?/,&';): ..«;(}L( Jsﬁz, o Al
(L%'aff (b). LA (a)

(2l (d) 5
97. What is mushroom? Jatk (c)

e e R R S e S N

@) Tungl ®) Bacteria
(c) Plant (d) Virus
AEA FT 7
AL (b) ¥ifean
(c) wie (d) arE
S
L2 () F @
J7s (d) <t ()
98.  An essential need for germination of seed is the presence of
(@) Minerals (b) Water
(c) Light (d) Temperature '
& & S & R TEEy SuRERT v § \
(@ @b SR :
() v () A -
) _4‘_‘;,2,»‘! ....................... @J,/h(uyg&jﬁé@:
GL (b) =L (2)
cirzn @ F ©
99. During Photosynthesis, plants make use of sunlight to convert water and carb0ﬁ>v5
dioxide to: -
(@) Carbohydrates (b) Proteins
(c)  Hydrogen (d) Enzymes

B-22 (SET-A) (56)




-

o 3 A, O G D OTEW B S wwy ¥ orhr o e s
e CuIES
o FEEER

(C) » ’,lj ../KJ,I&.L.L/‘JW’K&JJ@J}’QJ%U’J}JLJ;GL’}.
fpap g O '
s

(b) &=
(d) dsmw

d‘é’/.,. (b) .u,/ifl,;% (a)
(”l 1 (d) Juxl (€
or of the disease malaria?

is the c.':),l'l"l
100. What! (b) Aedes Mosquito

(a) Sand ﬂy

Mosquito (d) Anopheles Female Mosquito
0sq ,

e e 1 T T E

@ & BRI
(9 i R
e A K\ A
AR ®) dukr (@

/futu%i (d) A JQ 4 ©
101. In circular motion
(@) the direction of motion is fixed
(b)  the direction of motion changes continuously
(¢)  the acceleration is zero

(d) the velocity is constant P.T.O.
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Py (FgeR W) § _/
() R Rww PR R ¥ () ey 3 R @R T e
(c) T g o B (d) % fRere e &
U:@’;"Lf/’b
< Gulnd ) enfe7 (b) clmostd ecfol7 (a)
‘Q.&ﬂg};;:&/ (d) %V”}"j‘{)’g’ (c)
102. The unit of power is
(@) watt (b) joule
(c) newton (d) kelvin
R B 57 B
(&) = (b) I
() == (d) B
 edadse
Jz (b)F & s (a)
u¥ (@) ot (©)

103. Which of the following involves electromagnetic induction?
(a) charge is put on a rod
(b) anelectric current produces a magnetic field
(c)  amagnetic field exerts a force on a current carrying wire
(d) relative motion between a magnet and a coil produces an electric current.
Fretforfiar & @ et fogge grebi W7 anftvr 7
(a) =l o e W T AW ¥
(b) = figga o we gaaT & F SRR FE
() U= g & us e & TN I AR W T q9 e &

MWWWW%%WW@WWWWW%
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U"b L“U4U:J(¢.uﬁgf3p/p
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£ oSt SE L (a) |
~ /A “ i
v LUl o bk E ()
o Lg b bd_ s S35 5
8 thba;”. e e L/ ()
Bael7F sl o2 (d)

: ormed by 2 concave mi :
The image fi y mirror 1s observed to b
. € vi
object- Where rtual, erect and larger
the principal focus and ¢
rvature

104.
should be the position of the obj
ject?

than the

(a) Betw een

At the centre of the curvature

(b)
(©) Bey

ond the centre of the curvature

en the pole of the mirror and its principal f
oCcus

(d) Betwe

g a4 CE 1]

el ré o g & g & ol ey ofve af Rard 2 @ R
? \

(c) aaT g & |
: ufd) o @ g ok SED WY@ BEE D I
e Seli e &
JN T "“'d/‘fgdh&jc’%TA'L)’}’(‘JJV#&@JJ?;’.L‘L

AT
%l
s ;,/Jf;-mﬁ‘jif, (2)

L /ST (b)
4_,4;;/,.’.3/.37/‘1’ (©)

PTO, WY 33
el S BLE T (D
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105. The change in focal length of an eye lens is caused by the action of ‘

(a) Retina (b) pupil
(c) ciliary muscles (d) iris
st 9 3 W dad F oRadT A B & FTOr B &
(@) W (b) et
(c) Fufvrort waew (d) aRafeer
i One oS IL et duis o s7
Sz ©) ks (a)
AT U5 A ()
106. Antibiotic Penicillin was discovered by
(@ Edward Jenner (b) Alexander Fleming
(¢) Robert Koch (d) Joseph Lister
s AR @ @i R @ oy
(a) e dw (b) st wRfwT
) I == (d) Siee forex /
SR L
£ H (b Ak (a)
Aoz (d) &dess ()
107. Which of the following is the first word processor application?
&6‘ MS Word ' (b) Apple I work
(c) Word Star (d) Word Perfect
Frfofe # & i vear a¢ R QAR B
(a) wrowad (b) Tww o e
©) = w=r (d) =€ yige
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 of the following 18 valatile memory in a computer system?

os. ¥ i (b) ROM
: optical DV (B EiardDise
mwﬁmﬁﬁﬁﬂtﬁaﬁmmg?
@ (b) Afrnr
(© e T Ly v o
Y (‘? /idu!;u:‘isg,ﬂ¢ﬁ,:{
ROM (b) RAM (2
330 (D S5 %7 (©

109. One Tera Byte =7
(2) 1028 Megabytes (b 1/(‘)24 Gigabytes
(c) 1024 Kilobytes (d)” 1028 Gigabytes

¢= A ekl

sge1028 (@)
Sif1024 ©

9 sl 1024 (b)
PTO. sl 1028 ()
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110. Rickets is caused by the deficiency of:

(a)  Vitamin A (b) Vitamin D

(c)  Vitamin C (d) Iodine
Ry, feaat et & smor gy &
\jaa/ faeife A (b) =@ D |
) f=fm d) smEEe
e UL T
Gt (b) ‘ I ot @
3T (D) S ©

111. 950 —? =3697

(@ 13198 (b) 5814

(c) 5804 (d) 4894
112. H.CFof42,63and 140is ...

(@ 14 () 9

(© 21 d 7

42,63, IR 40w g

(@ 14 b)) 9

© 21 | @ 7

< WISEIE 140,563 42

9 (b 14 (a)

7 (d)

113. 0.09 x 0.004 = .
(a 0.036 \/(b)/p.oosg @/g
(c)  0.00036 (d) 0.000036 - ﬁ%fﬁ
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hs 1 kg. How many cubjg .;
) £ water welg mllllmetre s of
1 litre © Of water wi weigh 0
114 1
g ) 1
a) 0.1
( s @ 100
c) fret 31 R O ety
1
0 (d) 100
©)

(VARSI By AP S 3y 41
1 (b)

0.1 (a)
100 (d) 0 ©
N r
115, 0.05x5—-0.005%5=7 52"/ s/
® o ) o / ’
@ 225 (b) 0.225 %,y(, 'Tows -;7'; , o
© 2.025 (d) 029875 ~ - /”'.é%‘

116. In an examination, it is required to get 36% of the maximum marks to pass. A

student got 113 marks and was declared failed by 85 marks. What was the 1

maximum mark?

(a 600 (b) 550

©) 640 () 650
Qﬂ?qﬂmﬁﬁﬂﬂféﬁ%mma’mwsg%.mmm%lwm
ﬁllamﬁ%aﬁtaﬁssaﬁﬁ%aﬁa_mwnmﬁmw? :

(@ 600 \}h) | 550 MM

(©) 640 (d) 650 . % \ \'\%

W4
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AL P 13E K bl S SPe36NEAIL L iyt vy
?Qgﬁ}‘fgdg"-.l.f.(:’/‘}(gtc;/:}ﬁgl
550 (b) 0

650 (d) 640

117.  The average age of 30 students in a class is 12 years.

(©

The average age of 5 group of
5 students of the class is 10 years and that of another group of ;5 Studengs 14
years. The average age of remaining students is -

(@  8years (b) 10 years

?%W»,:J,.Jbég_‘gdvmjfuu&;,f

JL10 (b) Ju8  (a)
JL16 (d) JL12 (o)
118. Ifradius of 2 circle is reduced by 50%, its area is reduced by-
(a 25% (b) 50%
() 75% (d) 100%
B-22 (SET-A)
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qﬁﬁwso%méﬁﬁﬁ%a}m

 F (b) 509, TR o g
g 2 - w(d) 100y
75%
© £ :
SR sy
y 50% (b)
N | %
% N 5% (c)

ation 70% of the candidates passed in English, 80% passed in

an examm
119. In If 144 candidateg passed in both, the

10% passed in both subjects.

thematics, .

M:al :mmber of candidates Was:

; (b) 200

©) 24;;70% R ®, 80% TR o et # b g

s qham ar s SHIEart &/ H’@T ofi- x /\ 3

a"h} " 144 B'ﬂﬁaaﬂ' q gq’ ﬁ = 7

@@ 125 o : C/\-

(c) 240 e

UL U 10% 2w L U L/ 80% st U S 2 o T0% s e
?u‘?ﬂﬁfwmwtié_nuywn144u:u;»)7.2.n {
200 (b) 125 (a)
240 (¢)

375 (d) r
1.25 rupees pe
120. A man buys 12 articles for 12 rupees and sells it at the rate of

article. His gain percentage is;
@ 20% (b) 25% P.T.O.
©  15% (d) 18%
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I" > (A f’ /,; . 47 'v\ 0 \L““
o W gt e S 9

P
o ot 12 T 12 TG W & ol 53 v 1,95 oy .
FaT T Jfe 8- o TR Wt
of 20% . (b) 25%
) 15% d 18%

e e ._:,«5) 'd_-a_a(r)él 1 ey . o
Ma)bﬁﬂ*?’/r/ /e Lf(},«:.!gf“‘{:,;u “l/;lc“_t:.&./”gj/’-’;uufé‘_ul2m
B , (S 3 p-A

<\\ / ’ 5 & ?L

! / b :
e e % @
18% (a) 15%  (c)

121. If the length of hypotenuse of a right angled triangle is 5 cm and its area is 6 sq.

cm, then the length of the remaining sides are

@ 1om 3em (b) 3cm,2em

(c) 3cm,4cm (d) 4cm,2cm

afe T Bt & @l @ w5 A ¥ o T A 6 A R, A 4w
yoreit B /aTE 2-

(a) 18 3% Lo (b) s &, 2 {0

© s¥hamh U (4) 4 a2

?&uw@;,wg% HKET 638 e K SJHJJ‘Q‘&LWMJ’@W( /i

KE 22573 (b) KEIHEL ()
KE 254 (@) KE4pF3 (O

122, Acon i
and a cylinder are of the same height. Their rad

e ii of the bases are in ratio of
+ M€ Tatio of thejy volumes is: .

(a) 2 4
(c) 4.3 (b) 3:2
d 1:3
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ﬁﬁﬁﬂﬁiiﬁﬂfﬁihamgamnﬁ”%m
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T |
4 | by 3:2
@ B d 1:3
5 i KUl Z i
1 3 s KUl Yl
b}":u“ u: b‘£2 /’, w d%’"uu Uh"bg”””;.g
3:2 (b
( ) 2 :1 (a)
1:3 (d) G e .
123, 1471x?= 6909 ,» !
. N
(C) 67 (d) 27 \r?a,.\ AJ@A@'
124, 77+ 11=7 v&
@ 7077 ~ (b) 70707 \% i
(© 7707 (d) 7007 /
125. What is the smallest number to be added to 269 to make it perfect square?
®): -9 (b) 16
(e} 1 @ 20
zmﬁ@ﬁﬁ%@ﬁqﬁm@@amwﬁﬁﬁﬂm?
@ 3 ®) 167
© 7, B by 0
Wiy @ 2 :
Lo S e it ;‘/2692,&../‘)#‘/:&/&
& s W @
Sn 16 (b) £ /A '%
EN / |
/ 7 (¢
B N/ 20 (d)
B-22
e 67)




g

126. A gardener wants to plant 17956 trees in such a way that there are as many rows ag

there are trees in the row. The number of trees in a row is:

(d) 144 (b) 136

(c) 154 (d) 134

WWW%G%WW%WW%%WW%W@%%I@

Ui & U & W -

(a) 144 (b) 136 “fn s e

() 154 | d) 134 2'/4 \?Qf

LTS U B G Gt B LS Lt AU UP017956 b "3
. Z ‘ "&b‘p\ :
?d/ﬁ‘lfclﬁd/u;}udﬂb}' \;’Wy

136 (b) 144 (a) \f\?;;
134 (d) 154 (c)

127. What is equivalent discount on a sale of any product with two consecutivey be(’,

discounts of 25% followed by 20%? R y \x%
@ 15% b) 60% 2 v“;ﬁk @# |
(© 40% (d 25% " e
Mmaﬁzs%wzo%%ﬁm@wéﬁ%ww@wm?
@ 15% (b) 60%
(©)  40% (d) 25%

sl OF SV e e 20%2125% 4 w3, J S por f5”

60% (b) 15%  (a)

25% (d) 40% (o)
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i o whole sumbers whose sum is 64 can not be in the ratio
8

@ 3 3 (b) 7:1
© 34 d 9:7
awmmmm%wmmaﬁam??
(2) 5:3 (b) 7:1
© 3 4 d 9:7
e 812G I
7:1 (b) o i
9:7 (d) R
129. 1f 12 men of 18 women can do a work in 14 days, then the number of days that 8
men and 16 women will take to do that work is . :
@ 7 () 9 F
) 8 d 5 /

zrﬁlzgwmmq‘i%arqmﬁﬂ‘rﬁ@mwaﬁﬁ% eﬁaﬂmaﬁaﬂ%%/

wwsmaﬁﬁmﬁﬁﬂaﬁﬁ? A A
- Y3 \l\
@/ 7 ®) 9 %’

(c) 8 @ 5

‘-’Zui’u:,fvfif16/,1;/Si£rguuﬂw5¢/((3/uiu:14uf'i'18&)/12/’7
9 (b) 7 (a)
5 (d) 8 ©
130. Three years ago the average age of A and B was 18 years. When C joined them, the

average becomes 22 years now. How old is C now?

(8 24 years (b) 27 years
(C) 28 years (d) 30 years P.T,O, '
B-22 (SET-A) b
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B Lk
(@ 24ad (b) 27 : r‘%//\&“ﬁ} % x*"?} ..
\ {
(c) 28 (d) 30 T ‘ % Q’X DB q‘ﬂ%
‘?/}Jc-wllgﬁdl/22fb,«:l.'_,lcan@uﬁule%-d;U‘/1S/LAIJBAIA%JVU; %.
#
el
JL-27 (b) JL24  (a) ?5
o
JL30 (@) ode2s (o &j«/
131.  The strait that connects the Arabian sea and the Bay of Bengal is?
(a) Panama (b) Malacca
(c) Palk (d) Bering
T AR SR ST B @ @ Sy arer <
(a) v (b) wrHT

‘ore EIRIIEE s 21z

€L (b) W, (a2
S CY J(©
132. Neap tides are produced when .

(8)  The sun, Moon and Earth are in alignment

(b)  The Sun and Moon are at right angles to each other

(c)  There is new Moon

(d)  There is full moon
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791404 (d)
& gy (9

133. If you cross the date line moving east

(a) You subtract a day (b) You add a day

¢) You add 12 hours (d) You subtract 12 hours

uﬁmﬁﬁaﬂtaﬁg@ﬁzwwm&%
(a) — ke (b) T f sisa ¥
() 1T 12 HE e B | (d) o 12 & W@ ¥
iy TS e i nZe P85
¢z Lokl (D) ¢ bnfertl @

S enfE 12 (D) LS eonE 12 (©

134. In a parliamentary system whom is the executive responsible?

(a) President of the nation (b) House of the people

(c) Legislature (d) Judiciary

st el o e Ry SR A ¢

() ws® TR (b) o it T

(o) et () = p.T.O.
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KESTUs, (b) . )
k . ©

e (d)
135. India is a federal state because its constitution provides for
(@)  dual citizenship
(b)  Dual Judiciary
(c)  Sharing powers between states and centre

(d)  Written constitution

(@) sl TRear

(b) el =i

Xof T OR Fx @ e afvt
(d) fofee g

UL TE DB e e B it
< (a)

wlrs  (b)

L/ ’Kabgéluft.é}};lu;@g/ (¢) |
LT F @ ;;

136. Supreme court judge can holq office up to the age of?
@) 58 years (b) 56 years
(©) 62 years (d) 65 years
mmmm%mmr%vmwmmr@m%?
(@) 58 o (b) 56 o
(c) 62af

\@/35 s
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Juse (o) Q%MJZJ&'“”( &1
Ju65 (@ AR
Jvéz (c)
y7. The ex-officio Chairman of the Rajya Sabha
@) President et (b)) Vice PreS1dent
(c) Prime minister (d) Speaker il
T /B A A |
(@ vawel (d) oremar o
g g alie =i S at
et (D) i sbe / aast ‘;a)f
V() r“’u/,, ©
138, How many languages are - cluded in the 8t Schedule of constltutlon of In@é
@ 15 oo Ab) 18 S
© 20 ’(d) ) e
m%aﬁma&s&ﬁaﬁﬁ\iﬁﬁﬁﬁﬁmmﬁﬁ%?
(@ 15 (b) 18
© 20 @ 2
. VJJJW' LJu/ u* de ’SJMU'
18 b)) .1.5t (‘i?.
PT.O. | 2 (@) 20 ©
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139. The 86th Amendment Act, 2002 provided for
(a)  preservation of heritage and culture
(b)  safe guarding public property
(c)  free and compulsory education

(d)  promoting harmony

863 water oftifr, 2002 & fvg war T T ,
(a) W Tar FEW HT W@ (p) @A A ?mw
() T iR st R (d) wgwTa @ FErar
Y1 AE 2002 K 15756 1186
MKJLUJK/ (b) M%'&LJ) (a)
EsP6GE (a) AlSimes (g
140. The oldest Veda 1S
(@ RigVeda (b) Sama Veda
(©)  Yajur Veda (d) Atharva Veda
98 WA A &
@ W (b) "M
(©) aqee (d) e
TR
4 (b) ,g,..‘f (a) f
4341 (d) ey, (c)

(C) The Maun an Empll'e
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Who introduced the coin 'Rupia'?

142.
()  Sher Shah Surl (b) Akbar
) Humayan (d) Babar
o o R e T ST
(@) 9% &gl (b) &=
(¢ @& (@) =
LS i UL s
A1 (b) Cwls (@
4 (@D . g  (©)
143, Abolition of Sati was one of the social reforms introduced by
(a) Lord Wellesley (b) Lord Hastings
(¢) Lord William Bentinck (d) Lord Harding
ot 1 S T a g e o o ged 4 8 9
(a) S IR (b) €T
(0 i Rt dfew (d) @ TR e
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144. The Khilafat Movement was launchi;’;/» E-
@) 1922, 1920 1.5
(d) 1918

() 1919
Reerga sndiaT & AT T ar

@ 1922 o
(c) 1919

() 1920
() 1918
(}/CJ/JU’J /

1920 (b) 1922 (éjf

1918 (d) 1919 (c)J"

145. Wthh of the followmg was the official Language of the Pallavas? 1
@ Tamil - (b) Pali
(¢)’ Sanskrit (d) ' Kannada » '
Yewial @t Snferepifies Arar Freffa & q BT di?,

(a) m PYTHLENER »Mmaﬁ - ;

‘}& (b) J'{ (a)
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_ 146.

a e s an example of Tecyelable Te8 it
WO HE o5

Which © B
@mop ¥Hs {d) .
Fossil fuel : ) (b) wind

(a SRS
Arw TEFE  (b) (d) Metals

e
Yo IS Ui Bbude o ot
“L%' (b) Sudds (2
kb (D O

following is a Major cause of landdegradation in Punjab? = -

147. Which of the
(a) Intense Cultivation ~ (b) over irrigation ey

() Deforestation ~(d) Overgrazing

ﬁqﬁhﬂﬁﬁmmﬁmﬁwm@“@m%?
(a) A (b) e R

(c) T Y B

| 4—‘:5
Sl Tos :M—..u,/ (b)

U]o)lua,,w (d)

148. Pj WY
Pink head dnckis-an example-of - o #+ FE

a i .
( ) Extlnct species 55 () (b) rare SpeCieS

o ) = rSTR
(©)  Endemic species A (b) (@) ulnerable specics

('LJJL"V’])WLU:JJ'V%
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149.  Black soil is good for growing
(@  Rice (b) Wheat
(c) cotton (d) sugar cane
Frt fiedt T @ fre ot Bt &
(@) w@mw (b)
«(")/ . (d) =
e Ll '9/“'&’&’ u¥
U‘%}/ (b) J!% (2)
t (d)
: O
150. Which of the foljo: ey v
@ Todia WIng countries is the largest consumer of ¢oa] jn the world?
(b) Russia
(©)  Canada @) Chip
X a
ﬁ%ﬁ#ﬁﬁwmﬁrgﬁm#mwm
()" urg ol STl &
o = @
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JF (D)
5 ()

., Two sisters communicate to each other in their code T
. ¢ often. Thei
;s unable understand them as they keep changing the codes often d eir mother
1sti . as an h
feel like. What characteristic of language is not followed by the sisters? when they
sisters !

(a) Language must be socially shared

() Language is a representational tool

(c) Language is a code that uses arbitrary symbols

(d Language code is conventional
o g ot e T S T TR Y FE el ¥ of o o
@%mﬁ&m-wﬁgm%@%ﬁ TE G I A B A RS H e
& & W ¥? |

() ST qrS &9 ¥ fepam ST =Ry

T T SRR SUET 8
(c) W@ﬁg%vﬁwﬁmwmm%
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By P2 H IS S u-f"quu'ouw_ugJmempsf}Wuﬁuifﬂ,,
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ing informag;,,
ess of sharing informatj, 9
152, Which of the following is defined as "It is the pro¢ ication
(@) Spee(.h e

€
(¢) Hearing (d) Languag

gfear &7
ﬁwm#ﬁaﬁwmﬁa%“wmmmaﬁ

(@) o \W

(o) g | (d) - i o
T s SIS T e Gedur A0 U e,
o bow Jo (b) o @
s (d) =i (C)

153. Which of the following describe acoustic events involved in the transmissijop and
reception of a sound?
(@) Creation of a sound source, receptlon by ear, comprehenswn by braiy,

verbahzatlon by mouth

b) ‘Creation of a sound source, vibration' of : air particles, reception by ey

comprehension by brain

()  Vibration of ajr particlés, reception by ear, verbalization by mouth,

comprehension by brain

(d)  Creation of g sound source, vibration of air particles
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(d)
of communication is
gs of

. ce . . P
154, Basic pro \ation, articulation, reception and comprehension
Formulatiot
@)

e reception, comprehension ang feedback
SS101, .
(b) Transmi ion, Transmission, reception and feedback
101},
(© Formuld . \n. Transmission, reception and comprehension
ulation,
Faw A P I
(2) forT, JE ’ﬁ FR AR B
(c)  freTer, J8RT, &0
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() o, ARV, TR AR T

ol ey
. 7 s. W"quj{.@' (a)
ATl ez () (sl 0

Aot s & (@ Sutsdetdid®  ©
‘Il C(Joe L6 S

e an mic be f
155. Communication is active and dynamic because 0 |
| (a) Feedback (b) Interpretation
a

recelver
(c) sender (d)

FA e ol e & e 2-
yﬁ;@. ] (b) =
o
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(c) (d) R e ‘f:ng) %
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dzs (b)
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(@)  Child listens more than speaking
(b)  Child is young and impressionable
(¢)  child's brain is doing least synaptic pruning

idl
(d)  child's language development occurs most rapidly

THF A D R e af wrwr & fpr F el A B T Fifn-
(a) == 9 ¥ ST T &
(b) == gar ok yurage &
(c) T FTARTF T Y W R gfiT a2
yaa} B T T T ol F &y &
S u}ﬁidt{ééu;ﬁ&uwdvg&ﬁ’édi'id/,i
-‘gl‘;'vu.l!)c_éj.;,’,j (a)
el w5 e b o me b bEs  (b)
_‘aanﬂ/af:;‘}b:&(dfﬂu:ébéé (¢)
celbe ﬁ%f(éugjg?é d)

(b)  People are spread over large geographical areg

(c) geographical barriers isolate 4 community

(d)  Social barriers are present within a language Community

ﬁwﬁf@aﬁ%aﬁqﬁmw%maﬁﬁmaﬁ o, o . .
e § B G TE &
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158. Which of the following is not a rule of language?

(a) Lexicalization (b) syntax

(c) morphology (d) semantics

§ § BT AT B fram & ®e
(@) e A N
(O o (d) oref formrr
S KLU 5T é
(ng’/)f’rk (b) . Yibed (a) s
(b @ TR

159. Which of the following is used for rules of languages concerning how to use
language effectively in context?

(2) Pragmatics (b) lexical semantics

(c) syntax (d) phonology

e 3 et & ek & PR F & R T R S 82
ol R (b) e s
iy R O (d) @ fs
?%Vl?&(dbvptdﬂww/ KugJ“éLL/JW@,mLJ@@CQ
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160. When does the ability to hear develop?
(@) 3 weeks after birth
(c) 8 months after conception
T @l aar 9 e @y 27
(a) 1% 3 qE AT
/665 THIEE & 8 W ST

(b) 6 months after conception

(d) 3 months after birth

(b) wufen & 6 HE A&
(d) = & 3 7EH T |
oo (g S ez

6L F (b) D3l P (@
3L Pl (d) 8L (©

. R . i1d?
What term best describes the conversation-interaction between a mother and child

161.

(a) imitation (b) Meshing

(c)  Pseudo dialogue (d) Monitoring

T At SR =% & T N ariq B qed oresr quiT @ 27

(a) w=a (b) e

(y/ BRI (d) Frre

e AU AT Wt S 1S ey bl & sl

B (b) F @
3F (@ czelft ()

162. Regardless of culture children begin to learn language around the same time around

the world. At what age does it happen?
(a)  Between 6 and 8 months (b) Between 8 and 28 months

(c)  Between 2 and 4 years (d) Between 5 and 7 years
m#ﬁaﬁgﬁmmﬁ@ﬁw‘*wm@ﬂr%mﬁmgm“ﬁ
gl &7

(a) 6% 8w D d bV 25wy 3 g

J(df 2 3R 4 99 & 7 (d) 537 3w 3 g
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163, Achild's first words will be about something

(a) concrete (b) sbstract

(¢} time @ colour

T TR & vEe g fhw a { @

(@) 3w M

() =W )

u!ﬂfxwglgﬁu,gursﬂugb’é;

£ () g (@
SACY \ = (©)

164. In a family the mother speaks Hindi and the father speaks Marathi and Urdu. The
child speaks all the three language but mixes languages. What term best describes

this?
(a) Discrimination (b) over generalization
{c) Multilingualsim (d) mixed speech

wF TRaw § A B4 dwe ¥ ol e Wt ol o S ¥ w= AR S S
& dfe TS @1 P ¥ TE PR T o qE ot 0 S € 2
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165. A child was having mOthg, ing at Chennai. In the fifth

fongye Tamil and study

standard he moved to a State He learns Hindi and becomes

. Where Hindi is spoken-
fluent in that also. It iS ap ®Xam 1
ple of

a emergent literacy .
o ) (b) Bilingualism

ixed speech :
(c) mixed sp @ Differentiation

e o SR T o gﬁw@mlqﬁaﬁwﬁaﬁ@@mﬁ |
- R A gy ' S ot OTET @ S |

ST ) 9z ) HrEar § SR Ll & 81w |
fFaa®T U%H IETBLT ) .

(a) STHEED FTERET
HERIEICIE ‘
(c) MfEra wreoy,_ !

J;:; i (d) HEHE .2
(W7 v - ; 7 : {
¥ J"w/&/d" ’fd»"fugo;utymu:{g“‘-_t:m‘{.J.‘.’Gfouﬂc"_k)xul:jd”l'd/é"’g

?‘@d@’u(gf;-:‘_ trtgxuwd’-{u:mm{, L’bngu..‘L.

e2Uss (b) Seissst (@
t/5) (d) bos¥ (0

166. s o e : .
The literacy approach of making children learn a set of skills before beginning

instruction in reading is

(a)  emergent literacy (b) reading readiness

(¢)  writing readiness (d) whole language

[reRET giewior § Feat & e dEd H FREy 98 F0 ¥ Tmd 38 BN d9ed g |
(a) oreRRE® |TERAT ) U T aeRan ;
(0) rEw A (d) o smr
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167, Invented spelling

(a) increases children's fluency
Jing

(b) Interferes with reading development and conventional spel
(c)  should be treated as erroneous spelling
(d)  should not be encouraged
nfIepR =
(a) = B WA® H TG T
) wﬁ%ﬁaﬁmaﬂtmaﬁﬁmm%
() e ey @ w9 A S el
(d) s T fFa S T,

pilslas KUZ
{,m&yu:_w‘j@fag il () e tlozd| oz @
& b S G bt (O ot itie 1 (©)
168. Which of the following is not a basic language skill?
(a) Imagining (b) Speaking
(c) Reading (d) Writing
Breefiag & & S I AT B TE L7
ST wET (b) s
(c) e (d) fe
e eSS ISIA L 5T
. (b) S @
el () toy ()
169. Which of the following is an example of Learning disability?
(@ mental retardation (b) dyslexia
e APED (d) Autism
P.T.O.
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170. Which of the folloyw;
(@ Limited e OCcurs ip children with expressive language disorders?
a 1mited amoyy
. . Htof Speech (b) Difficulty in learning new words
(C) leﬁClﬂty 1n ﬁnding the I'ight word

(d) All of the abgy,
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